B Y WA Assembly Instruction

RIPPLES 4 SLAT WITH RETRO LEG KING BED

Manufactured for Rooms To Go

BSSB

32477829 KING HEADBOARD FOOTBOARD SLAT RED
32477831 KING HEADBOARD FOOTBOARD SLAT GRAY
32477843 KING HEADBOARD FOOTBOARD SLAT BLUE
32477855 KING HEADBOARD FOOTBOARD SLAT YELLOW
32977829 QUEEN / KING RAILS RED

32977831 QUEEN / KING RAILS GRAY

32977843 QUEEN / KING RAILS BLUE

32977855 QUEEN / KING RAILS YELLOW

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small
parts, which may have come loose inside the carton during shipment. Indentify and count all parts and
compare with the Hardware List as below:

Hordware Listi

No. Picture Description QTY
,\%ﬁ\\ Machine Screw (Bolt) M8 x P1.25 x 30mm
@ o Spring Washer (M8) 12PCS
(Pre—-Assemble) Flat Washer (M8 x 18mm>
~ Machine Screw (Bolt) M8 x P1.25 x 30mm
@ Q\\@»“\'B\ Spring Washer (M8) 4PCS
Flat Washer (M8 x 18mm>
o Machine Screw (Bolt) M8 x P125 x 50mm
@ Q\‘g\;\‘l“»‘ Spring Washer (M8) 2PCS
Flat Washer (M8 x 18mm>
5
@ Mochine Screw (Bolt> M8 x P125 x 30mm 8PCS
@ / Allen Key M5 1PCS
Parts List:
No. Picture Description QTY No. Plcture Description QTY

®

®

Headboard 1 @ ﬁ Eggber‘ Wood 2
Footboord 1 @ Metal Bracket 2
Side Rall (Left
Reversoble 1 @ Center Support 8
Leg

Side Rail (Right>
Reversable 1

@ Flat Slat 4

Warningll

This product contains small parts and packaging that should be kept away and out of reach from all

children,

HIGH POSITION SLAT

Version-0 - 26.02.2025

Page-1




BSSB

S AS Sembly InSthtlon 32477829 KING HEADBOARD FOOTBOARD SLAT RED

32477831 KING HEADBOARD FOOTBOARD SLAT GRAY
RIPPLES 4 SLAT WITH RETRO LEG KING BED 32477843 KING HEADBOARD FOOTBOARD SLAT BLUE

32477855 KING HEADBOARD FOOTBOARD SLAT YELLOW

32977829 QUEEN / KING RAILS RED

32977831 QUEEN / KING RAILS GRAY

32977843 QUEEN / KING RAILS BLUE

Manufactured for Rooms To Go 32977855 QUEEN / KING RAILS YELLOW

STEP | - ATTACHING METAL BRACKET TO THE FOOTBOARD. STEP 2 - ATTACHING LEG TO THE METAL BRACKET.
TAKE OUT THE BOLTS FROM FOOTBOARD (B). ATTACH THE METAL ATTACH THE LEG (E) TO THE METAL BRACKET (F) USING SCREW WITH
BRACKET (F) TO THE FOOTBOARD. DO NOT TIGHTEN THE BOLTS. WASHER (3).D0 NOT TIGHTEN THE SCREW.
FOLLOW THE DIAGRAM SHOWN BELOW. _ FOLLOW DIAGRAM AS SHOWN.

FROM BOTTOM VIEW

STEP 3 - ATTACHING SIDE RAIL TO HEADBOARD & FOOTBOARD

LOOSEN THE BOLTS (1) FROM HEADBOARD & FOOTBOARD. CHOOSE
BETWEEN HIGH OR LOWER SLAT POSITION BEFORE ATTACH THE SIDE
RAIL. HOOK SIDE RAIL BRACKET OVER THE BOLTS (1). TIGHTEN WITH
THE ALLEN KEY (5) PROVIDED.

HIGH POSITION SLAT LOWER POSITION SLAT

Version-0 - 26.02.2025 Page-2




Manufactured for Rooms To Go

STEP 4 - ATTACH SCREW TO THE SIDE RAIL

BSSB

32477829 KING HEADBOARD FOOTBOARD SLAT RED
32477831 KING HEADBOARD FOOTBOARD SLAT GRAY
32477843 KING HEADBOARD FOOTBOARD SLAT BLUE
32477855 KING HEADBOARD FOOTBOARD SLAT YELLOW
32977829 QUEEN / KING RAILS RED
32977831 QUEEN / KING RAILS GRAY
32977843 QUEEN / KING RAILS BLUE

32977855 QUEEN / KING RAILS YELLOW

ATTACHING SCREW (2) TO THE METAL BRACKET (F) AND FIX IT TO THE

STEP 5 - FIX THE LEG POSITION

SIDE RAIL (C) & (D) USING ALLEN KEY (5) PROVIDED. FOLLOW DETAIL

\

STEP 6 - ATTACHING CENTER SUPPORT LEG TO THE SLAT

MAKE SURE THE BOTTOM LEG SURFACE FLUSH TO THE FLOOR LEVEL.
THEN FULLY TIGHTEN THE BOLTS. FOLLOW DETAIL AS SHOWN.

/ o \
/7]
G Sy \BOTTOM LEG SURFACE
S \ JFLUSH TO THE
= \c——)— " FLOOR LEVEL
\\ Va

<=4 FLoor LeveL

TIGHTEN IN THE CENTER SUPPORT LEG (G) TO THE INSERT NUT HOLE AT

THE SLAT (H). FOR LOWER POSITION SLAT, REMOVE THE TOP CENTER
SUPPORT LEG AND ATTACH THE BOTTOM CENTER SUPPORT LEG TO INSERT

NUT HOLE AT SLAT. PLACE THE SLAT (H) TO THE SIDE RAIL (C) & (D)
AS SHOWN.

*NOTE: THE THRU HOLE CAN BE
FOUND AT THE MIDDLE OF THE SLAT|

Version-0 - 26.02.2025

OPTION |

on ©

HIGH POSITION SLAT
ATTACH THE CENTER

SUPPORT LEG TO SLAT

OPTION 2

LOW POSITION SLAT

A
REMOVE THE TOP CENTER

S

SUPPORT LEG FOR LOWER
POSITION SLAT

BOTTO ATTACH THE BOTTOM CENTER

SUPPORT LEG TO SLAT

Page-3




Manufactured for Rooms To Go

BSSB

32477829 KING HEADBOARD FOOTBOARD SLAT RED
32477831 KING HEADBOARD FOOTBOARD SLAT GRAY
32477843 KING HEADBOARD FOOTBOARD SLAT BLUE
32477855 KING HEADBOARD FOOTBOARD SLAT YELLOW
32977829 QUEEN / KING RAILS RED
32977831 QUEEN / KING RAILS GRAY
32977843 QUEEN / KING RAILS BLUE
32977855 QUEEN / KING RAILS YELLOW

STEP 7 - ATTACHING BOLTS TO THE SLATS

FIX THE SLATS WITH BOLTS (L) USING ALLEN KEY (5)
PROVIDED. THEN LEVEL THE LEG TO THE FLOOR.

| LEVEL |
\ ME !

\
\ /

N LEVEL ME //
LABEL J/

NS A
LEVEL THE LEG
TO THE FLOOR

LEVEL THE LEG
TO THE FLOOR

STEP 8 - FINAL TOUCH

PLEASE HEED THE FOLLOWING INSTRUCTIONS.

I. KEEP AWAY FROM DIRECT SUNLIGHT
TO AVOID DISCOLOURATION.

2. DO NOT DRAG THE BED ACROSS THE
FLOOR WHEN POSITIONING OR MOVING
WHILST CLEANING.

3. WIPE CLEAN WITH A DAMP CLOTH.
L. TIGHTEN ALL SCREWS AT REGULAR

INTERVALS, TO AVOID DAMAGE TO THE
FRAME.

5. ENJOY YOUR PRODUCT.

Version-0 - 26.02.2025

YOUR BED IS NOW
READY FOR ITS
MATTRESS.

Page—4




